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var log = console. log;



var Perceptron = function() { // BEEI#¥1t
this. step=function(x, w) { // DEERE. FHEHATHER w FIBEUT, A EHES 0
o1
var result = wlO]*x[0]+w[1]*x[1]+w[2]*x[2]; // y=wO*x0+x1*wl+x2*%w2=—thetatxl*
w1 +x2%w2

if (result >= 0) // WIRARKIAE

return 1; // ol 1
else D/\IJ
return 0; // el 0

this. training=function (truthTable) { // FI#KEL training (truthTable), HrH tru
thTable /& HIEHIER
var rate = 0.01; SR FPREER, WHlZ alpha
var w = [ 1, 0, 0];
for (var loop=0; loop<1000; loop++) { // mZil&i— T i
var eSum = 0.0;
for (var i=0; i<truthTable.length; i++) { // 43 E48 2 H AR (8 iy N\ oy s
Boss, #PRIAR—IK.
var x = [ -1, truthTable[i][0], truthTablel[i][1] 1; // #@mA: x
var yd = truthTablel[i][2]; // PSP EHE vd




var y = this.step(x, w); // HEiWEL v

var e = yd - vy; // ZB e = WHEMEE vd - HETHEH v
eSum += e*e; // EHE RN
var dw = [ 0, 0, 0 ]; // PEFEFRERIEE dw

dw[0] = rate * x[0] * e; w[0] += dw[0]; // wl[O] FHEIRELZy dw[O]
dwll] = rate * x[1] * e; wll] += dwl1]; // wll] FREIRE Sy dwll]
dw[2] = rate * x[2] * e; w[2] += dwl2]; // wl2] [EREIREEZy dwl2]
if (loop % 10 == 0)
log ("%d:x=(%s, %s, %s) w=(%s, %s, %s) y=%s yd=%s e=%s”, loop,

x[0]. toFixed(3), x[1].toFixed(3), x[2].toFixed(3),

wl0]. toFixed(3), wll].toFixed(3), wl[2].toFixed(3),

y. toFixed (3), yd. toFixed(3), e.toFixed(3));

}
if (Math. abs(eSum) < 0.0001) return w; // Eill&kiss im0/, wiogalae 7

}
return null; // ®HI, #EE null ARRINGRKHEL

function learn(tableName, truthTable) { // Z:& E#E:0: WAL HEEMER truthTable




BLH. A F% tableName.

”

log (7 2 %s K
var p = new Perceptron(); // BRGNSV
var w = p.training (truthTable); // FI&REH1%
if (w != null) // BEI RS R
log ("S:E T 17);
else
log ("B E RHL 17);
log ("w=%j", w);
}
var andTable = [ [ 0, 0, 0], [0, L, 0], [ 1, 0, 01,
1 FAE R
var orTable = [ [0, 0, 0], [0 1, 1], [1, 0, 1],
[ FLAE R
var xorTable = [ [ 0, 0, 0], [0, L, 1], [1, 0, 1],
[ FLAE R

andTable); //
orTable); //
xorTable); //

learn (“and”,
learn(“or”,

learn (“xor”,

=
=z,
)

& 48 {8
I N I
(=)
=)
R R R
FEE

<
(@)
=0

[ 1

[ 1

[ 1

)

tableName) ;

1, 1 11; // AND pREX

1, 1 11; // OR BREL

1, 01 1; // XOR BR¥KL
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or PREX

:x=(=1. 000, 0. 000, 0. 000) w=(1. 000, 0. 000, 0. 000)
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:x=(~1. 000, 1. 000, 1. 000) w=(0.970, 0. 020, 0. 020)

10:x=(-1. 000, 0.
10:x=(-1. 000, 0.
10:x=(-1. 000, 1.
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The gradient of the function flxx.y) = —(costx + coszy}z &d
depicted as a projected vector field on the bottom plane.

+ HH A B — R RE I (R B

fELET > &NV E DArENEE - g2 DI E LR IR o TR TR P ERBER T
FEERMS L -t BB > HE R MRV FEAEARE - SRRV REARAT -



ORI Dt BRI BEREAST - R BB R 2 » AR IR RIS T -

PRI E BT A TORAT » BUI8 5 BOIE T4 ) Gradient Descent) » S5 AT AR T B9 B3001
% ) (Greedy Algorithm) » PRAEAFREHERBHTT LS » REFEIBARHT IR -

BT TR AR RITVFARA RS AT AR sien HIEB G0 TE a FOR) - AR
PR 97 BRI T T /EG50FE TLA TR sigmoid) (4 I8 b BT » S8 RESIB B MUY S L
BB -

k k
X1 y= ségn(z i * w;) %1 y= sigmoid(z T * w;)

~
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K

() EERABH—EWET () SERABRN—EHET
- AT 2

RIS AT T EY sigmoid() e 1R > wE AT PUERIMAE A3 - SR EA Y e dsigmoid() - IS ~ EASL
HIRER > FAFTEA] T R TE V] e tanh(x) {F &y sigmoid() eR# > HIEFRLT FHTR ¢



5 (L B o
sinhs =—5—

= Frpodt!
coshz =¢ if
tanhx—-@mﬁ
— coshzr

Y tanh(o) FYBEOTE 1— g2 > REAE PSR T - BFTER TS BHEt T -

var tanh=function (x) {

return (Math. exp(x) — Math.exp(-x)) / (Math.exp(x) + Math.exp(-x));

function sigmoid(x) {

return tanh(x); // IR

function dsigmoid(x) {

return 1.0 — x*x;

}

EHeART dsigmoid(y) H1EY 1.0 - x¥x AIE y=tanh(x) B85350 EHEH{E y=tanh(x) ZREUG S ZUHIRF (% > HERLERRERYTT
A o



EEE - FEEFEHRA L+i_xffﬁ%snﬁnokﬂ)@§§&’ S tanh(o) BREEHIIIRIEFADL > R —FERIITHVITE) -

A2 55 7B

F&E2E © backprop.js

// Back—Propagation Neural Networks (JavaScript hR)

// HBEEEIEME Neil Schemenauer M) Python fi
// Python FExNA9HEA: http://arctrix. com/nas/python/bpnn. py

var log = console. log;

[/ BESLR/ANE n BIREFICEAYIGRE fill
var makeArray=function(n, fill) {
var a = [];
for (var i=0; i<n; i++)
a.push(fill);

return a;

[/ SRRy Tx] WIFRREAEEAAIIR{E fill

var makeMatrix=function(I, J, fill) {




var m = [];
for (var i=0; i<I; i++)
m. push (makeArray (J, fill)):

return m;

// numbersToStr () : LANEHEE & precision /NS HE%] array
var numbersToStr=function (array, precision) {
var rzStr = 77;
for (var i=0; i<array. length; i++) {
if (arrayl[i]>=0)

rzStr+=" ”

v o7

+arrayli]. toFixed (precision)+” ”;

else

v o7

rzStr+=array[i]. toFixed (precision)+

}

return rzStr;

// rand () :HUU5 a F| b Z [ —1EFEEELEL
var rand=function(a, b) {

return (b—a)*Math. random() + a;




// sigmoid (x)=tanh (x)

function sigmoid(x) {
var tanh = (Math.exp(x) — Math.exp(-x)) / (Math.exp(x) + Math.exp(-x));
return tanh; // #HIEVIREL

// dsigmoid(x)=1-x2;

// 2. http://pynopticon. googlecode. com/svn/trunk/src/vlfeat/toolbox/special/dsi
gmoid. m

/) £2%. http://en.wikipedia. org/wiki/Sigmoid function

function dsigmoid(x) {

return 1.0 — x%*x;

function NeuralNet() {

// init () s R A At v BELRE B 1Y) P AR A s L T R G
this. init=function (ni, nh, no) {

// number of input, hidden, and output nodes




this.ni = ni + 1; // +1 for bias node
this.nh = nh;
this.no = no;

// activations for nodes : HEI7%% & ) B &l FE %1
this.ai = makeArray(this.ni, 1.0);
this.ah = makeArray(this.nh, 1.0);
makeArray (this.no, 1.0);

this. ao

// create weights : 7 7 F B %0 [
this.wi = makeMatrix(this.ni, this.nh, 0.0);
this.wo = makeMatrix(this.nh, this.no, 0.0);

// set them to random vaules : PFEHERX EHEEWIUG/E .
for (var i=0; i<this.ni; i++)
for (var j=0; j<this.nh; j++)
this.wilil]l[j] = rand(-0.2, 0.2);
for (var j=0; j<this.nh; j++)
for (var k=0; k<this.no; k++)
this.woljllk] = rand(-2.0, 2.0);




// last change in weights for momentum : F—RWISCEEER, HAE )= EE
1% J5 784 [ 35

this.ci = makeMatrix(this.ni, this.nh, 0.0);

this.co = makeMatrix(this.nh, this.no, 0.0);

return this;

// update () : FHEAHEE I H oK #Y
this.update=function (inputs) {
// input activations : EXE#MAE
for (var i=0; i<this.ni-1; i++)

this.ailil] = inputsli];

// hidden activations : FIEPERUEEHIE ahlj]
for (var j=0; j<this.nh; j++) {
var sum = 0.0;
for (var i=0; i<this.ni; i++)
sum = sum + this.aili] * this.wilill[j];

this.ah[j] = sigmoid(sum) ;




// output activations : Ft5EgH @ HE ao k]
for (var k=0; k<this.no; k++) {
var sum = 0.0;
for (var j=0; j<this.nh; j++)
sum = sum + this.ah[j] * this.wolj][lk];

this.aolk] = sigmoid(sum) ;

return this.ao; // [ @i ao

// backPropagate () : AFIREE R (EE)
this. backPropagate = function(targets, rate, moment) {
// calculate error terms for output : =i JEiRZE
var output deltas = makeArray(this.no, 0.0);
for (var k=0; k<this.no; k++) {
var error = targets[k]-this.aolk];

output deltas[k] = dsigmoid(this.aolk]) * error;

// calculate error terms for hidden : EFIE[EijEirE




var hidden deltas = makeArray(this.nh, 0.0);
for (var j=0; j<this.nh; j++) {

var error = 0.0;

for (var k=0; k<this.no; k++) {

[/ FEE. fEdkE R ZE output deltas & HIERFEEE, KA T A S 2
PRI
error = error + output deltas[k]*this.wol[j][k];
}
hidden deltas[j] = dsigmoid(this.ah[j]) * error;

// update output weights : B gy & pE &
for (var j=0; j<this.nh; j++) {
for (var k=0; k<this.no; k++) {
var change = output deltas[k]*this.ah[j];
this.woljllk] = this.wo[j][k] + ratekchange + moment*this.col[j][k];
this.coljllk] = change;
// print Nxchange, Mxthis.colj][k]




// update input weights : B #rim A\ JE fE &=
for (var i=0; i<this.ni; i++) {
for (var j=0; j<this.nh; j++) {
var change = hidden deltas[j]*this.aili];
this.wilill[j] = this.wil[i][j] + rate*change + moment*this.cilil[j];

this.cilil][j] = change;

// calculate error : Flf&daH JERRZES
var error = 0.0;
for (var k=0; k<targets. length; k++)

error = error + 0.5*%Math. pow(targets[k]-this.aolk],2);

E=

I
=

return error;

// test() : WHEAHER GlARAA) rgaH(Ewm NEEIH [T49eEmt ] 8L THSEEmE ] , B
R 2 B2 4 R R R AR A
this. test = function(patterns) {
for (var p in patterns) {

var inputs = patterns[p][0];




var outputs= patterns[p][1];

log("%j —> [%s] [%s]”, inputs, numbersToStr(this.update(inputs), 0), number
sToStr (outputs, 0));

// this. dump() ;

// train(): FEEB R, BN REE
// 287: rate: learning rate (Z2EHE3), moment: momentum factor (Ej=EHE)
this. train=function(patterns, iterations, rate, moment) {
for (var i=0; i<iterations; it++) {
var error = 0.0;
for (var p in patterns) f{
var pat=patterns[p];
var inputs = pat[0];
pat[1];

var outputs = this.update (inputs) ;

var targets

error = error + this.backPropagate(targets, rate, moment) ;

}
if (i % 100 == 0)

log(C %d:error %j’, i, error);




module. exports = NeuralNet; // [EH NeuralNet 14,

HEPEE 1 Y OXOR Sk

F&2E © backprop_xor.js

var NN = require(”. /backprop”);

pat = [
([o,0], [o0]],
(fo, 11, [111],
([1,0], [11],
([1,1], [0]1]

// create a network with two input, two hidden, and one output nodes
nn = new NNO).init(2, 2, 1);

// train it with some patterns




nn. train(pat, 1000, 0.5, 0.1);
// test it
nn. test (pat) ;

HITER -

D:\Dropbox\Public\web\ai\code\neural >node backprop xor
O:error 1.1411586806597014

100:error 0.15669092345306487

200:error 0.0044566959936791035
300:error 0.0018489705409186357
400:error 0.0011477205633429219
500:error 0.0008277968129286529
600:error 0.0006456614467953627
700:error 0.005231441443909679
800:error 0.0004595906757934737
900:error 0.0003945408066808508

[0,0] > [ 0] [0]
[0,1] > [ 11 [1]
[(,o] > [ 11 [1]
[(1,1] > [-0 ] [ 0]




o

B2 BY S ENT ESK

FEZE © backprop_T7seg.js
/* LB ARS8 7
A
F B
G
E C
D
*/
var NN = require(”. /backprop”) ;

pat
//

= [
ABCDEFG

(f1,1,1,1,1,1,01, [0,0,0,017,
(fo,1,1,0,0,0,01, [0,0,0,117,
((1,1,0,1,1,0,11, [0,0,1,017,
(f1,1,1,1,0,0,11, f0,0,1,117,
(o, 1,1,0,0,1,1], [o0,1,0,0]],
([1,0,1,1,0,1,1], [o0,1,0,1]],

//
//
//
//
//
//

O = W N = O




((1,o0,1,1,1,1,1], [o,1,1,011, // 6

(1,1,1,0,0,0,0], [0,1,1,111, // 7

(l1,1,1,1,1,1,1], [1,0,0,0]], // 8

(1, 1,1,1,0,1,1], [1,0,0,111 // 9
1;

// create a network with 7 input, 5 hidden, and 4 output nodes
nn = new NNQO.init(7, 5, 4);

// train it with some patterns

nn. train(pat, 10000, 0.2, 0.01);

// test it

nn. test (pat) ;

HITER ¢

D:\Dropbox\Public\web\ai\code\neural >node backprop T7seg
0:error 21.80370718175807

100:error 3.0996784544877736

200:error 2.9554663137424373

300:error 2.9322332121195545

400:error 0.9175505320368402

500:error 0.5911840202045504




600:
700:
800:
900:

1000:
1100:
1200:
1300:
1400:
1500:
1600:
1700:
1800:
1900:
2000:
2100:
2200:
2300:
2400:
2500:
2600:

error 0.6702566860375645
error 0.6175745429758741
error 0.6073471516556047
error 0.601200049561361

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

0.5810463514787689
0.5364677212922591
0.532025286869445
0. 46666848524996085
0.48129628693742754
0. 8155362088747744
0. 5829386518767099
0.6944742612114545
0.
0
0
0
0
0
0
0
0

49717362214697597

.40957109669176334
. 5388564563993076
.3703582901903478
.5178647638260341
. 1764373289120007
. 25347246319196093
. 33310966813566406
. 17106878914718923




2700:
2800:
2900:
3000:
3100:
3200:
3300:
3400:
3500:
3600:
3700:
3800:
3900:
4000:
4100:
4200:
4300:
4400
4500:
4600:
4700:

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

O O O O O O O O O O O O o o o o o o o o o

. 1365002209754472
. 1594051132697459
.3070991793860354
. 3766039636947747
. 3555367190225767
. 11555541960454409
. 11367500949340971
. 12234128181753154
. 1675446667610037
. 09044262748000728
. 08628776394501735
.27906234926518514
. 04818459875532369
. 062418918530088664
. 2804289611800696
. 13725495522690973
. 12719742994691247
.07177660395615833
. 08548411758763816
.03974217740792855
. 09595126476746213




4800:
4900:
5000:
5100:
5200:
5300:
5400:
5500:
5600:
5700:
5800:
5900:
6000:
6100:
6200:
6300:
6400:
6500:
6600:
6700:
6800:

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

O O O O O O O O O O O O o o o o o o o o o

. 03853494372617759
. 06360901767700806
. 07246959735102428
. 05362418748287888
. 04669033343340621
. 03270696475959521
. 03940008954106113
. 047208537352753516
. 049368429554604215
. 042625347453785954
. 056241589618292134
.016798400589135128
. 03404851177897533
. 028972975396903942
. 01572555942490573
.048110746037786964
.039118552165591194
. 03954060666366999
. 047240563507126423
.013729342899560402
.03734015049471263




6900:
7000:
7100:
7200:
7300:
7400:
7500:
7600:
7700:
7800:
7900:
8000:
8100:
8200:
8300:
8400:
8500:
8600:
8700:
8800:
8900:

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

error

O O O O O O O O O O O O o o o o o o o o o

. 04385222818693631

. 038098235270263764
. 014325393180305138
. 039093361005808284
. 011914229228792664
.012490068609142688
.010110888778014877
. 017266400583083073
.037972260655506615
.010317947862704183
.02181165885044425

. 033354842242808616
. 033244707069915634
. 02269772865101642

.008219315372175379
. 03342460798252796

. 008080093519395289
. 02466937317542233

. 03307092886686206

. 033433889409569414
. 031423007039930506




9000:error
9100:error
9200:error
9300:error
9400:error
9500:error
9600:error
9700:error
9800:error
9900:error

.018154152094468162
. 008635680953338276
.030890671102892397
.009020762345545542
. 015823853695083934
. 029353956299920176
.03028116871034789

.03009059907189612

. 025996249652393937
. 009595759182954272

SO O O O O O O O o o

0k, 36, 1,16 1

1

)

o] >[0 0-0-0]

[0,1,1,0,0,0,0] —> [ 0
[1,1,0,1,1,0,1] => [-0
[1,1,1,1,0,0,1] => [-0
[0,1,1,0,0,1,1] > [ 0
[1,0,1,1,0,1,1] => [0
[1,0,1,1,1,1,1] => [-0
[1,1,1,0,0,0,0] —> [-0
[1,1,1,1,1,1,11 -> [ 1 -0 -0
[1,1,1,1,0,1,1] —> [ 1

-0 -0
-0 1

0

—

—_ = = =

0 -0

1]
0]
1]
0]
1]
0]
1]
0]
1]

_ = O O O O O O o O

oSO O = = = +H O O O O

o O = =2 O O = = O O

0]
1]
0]
1]
0]
1]
0]
1]
0]
1]

B
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BN BREEA S T LIS S FEIME - R TRNBF ST REES > TR SO SRS E At
TTHY - RN R AR S S| SR (i ELerRt - EEaR_A G atE T |

o Wikipedia:Backpropagation

o Wikipedia:Multilayer perceptron
o YERLETRR SR EREEEDA

o WAERLZ BRI

AR BREE M AEAE A E S4B ERE > SRABITEA AR 80 ~ AHEDT A = 1528 ]
WA SRR ES G+ (TFF @ R4y

AV — SR AR AR S A !

AR LR HERE E R CH F22CHE(, #E2R FUZFEBERY XOR Gate, (IRFCAVERfAFR_HHRAVEZZNS, 5 — TR B 2 H
{ERZHIEK, BEEIRA R, S8 IR 7 S EAY O (R4 B S MU ARV (4 & ZA S A, B Multithread,
(S ...

5 C#.Net RiRHIJFIEEEF, AR Crr (B, FRIESEALE:

o http://mogerwu.pixnet.net/blog/post/25518602


http://en.wikipedia.org/wiki/Backpropagation
http://en.wikipedia.org/wiki/Multilayer_perceptron
http://zh.wikipedia.org/wiki/%E5%8F%8D%E5%90%91%E4%BC%A0%E6%92%AD%E7%AE%97%E6%B3%95
http://zh.wikipedia.org/wiki/%E5%A4%9A%E5%B1%82%E6%84%9F%E7%9F%A5%E6%9C%BA
http://zh.wikipedia.org/
http://creativecommons.org/licenses/by-sa/3.0/tw/
http://mogerwu.pixnet.net/blog/post/25518602

WEESEAT, HEAE I AE Linux T 4ms gt THYCHHZ B =40 T

V= =======c=cc=c===
Summary :
SRS - SEREA
Compiler :
linux:
g++ —1rt —o ./Neural3 . /Neural3. cpp
Usage
. /Neural3
Reference :
PR AT - P AR I @ NN BRI 9T A% PIXNET
http://mogerwu. pixnet. net/blog/post/25518602
Remark :
History :
yyyy. mm. dd Author Discription

2010.11. 10 Yihhann Chang Translate from the C# source code of Moger Wu

Test:
. /Neural3




#include <ctype. h>

#include <math.h> // for exp(), fabs(), sqrt()
#include <stdio.h>

#include <stdlib. h>

#include <string. h>

#include <time.h> // for srand()

/) ZRTR PSR N A5 BRI 2 9T, 2 NE A, BRI MR E
[/ W&, WHEENFEZPATENIRE, B ER 5 F g .

[/ EIERE AT TT, Value A& ol HAE, WRMETTAAMANE, &
// TR RS, TEAGRET & TR E RS . M TTIia bR

[/ BB M b — R A T E S, B AR A BE A 1 AC SR Z1Synapse . ]
// AR EERME (GateValue) . &85 (Synapse) #BA%H BLEGER EHIUG1E
// PRPBAR B An AT [ e, Wi 1 Bl 1S8R I ARME, 15 0] a] BEAN S
/] G

//

// [RIR Pt SR 2 (diffentValue) . B{EIBIE (fixGateValue) .« FH&EHHE
// MEIE (fixSynapsel]), ERATFTA FMEER L — L EZ LSS ) 1.




class Element

{
public :
double Value;
double GateValue;
double *Synapse;

// internal

double diffentValue;
double fixGateValue;
double *fixSynapse;

int UpperLayerSize; // the length of Synapse and fixSynapse

public :

Element (int upperLayerSize) {

int s;

UpperLayerSize = upperlLayerSize;
Synapse = new double[UpperLayerSizel;
fixSynapse = new double[UpperLayerSizel;




if (UpperLayerSize > 0) {
GateValue = ( (double)rand() / RAND MAX ) * 2 - 1:
for (s = 0; s < UpperLayerSize; s++) {
Synapsels] = ( (double)rand() / RAND MAX ) * 2 - 1;

// s, REIE B B 1) &R
"Element () {
if( Synapse != NULL ) delete Synapse;
if( fixSynapse != NULL ) delete fixSynapse;

b

// end of class Element

/] PRI BRI O R ET
// Element ***Elements;

/) F—l MR B RE S SR At A AP A T, BB — (B RE A AP AC R, 28 — (8t




// R R AL B AL TT

const int ELEMENTS LENGTH = 3; // Network::Elements. length, =7#& Layer
class Network f{

public:

Element s***Elements;

double *Standar;

double DiffentValue;

// Elements[?]. length, =7 Layer M uZRE, 75 {5 K pE H
int Elements lengths[ELEMENTS LENGTH];

/) Ky TREROTE, FREToNAE B, B [l N\ JE AN .
Element ** OQutputlLayer; // Elements[2];
Element ** InputlLayer; // Elements[0];

Network (int InputLayerSize, int HiddenLayerSize, int OutputlLayerSize) {
// A HENRER T NE AR — KRN, B R AT & B R A A .
Elements = new Element #*%[3];

Elements[0] = new Element *[InputLayerSize];
Elements[1] = new Element *[HiddenLayerSize];




}

Elements[2] = new Element *[QutputLayerSize];

OutputLayer = Elements[2];

InputLayer = Elements[0];

Elements lengths[0] = InputLayerSize;
Elements lengths[1] = HiddenLayerSize;
Elements lengths[2] = OutputlLayerSize;

Standar = new double[OutputLayerSize];

int upperlLayerSize = 0;
for (int 1 = 0; 1 < ELEMENTS LENGTH; 1++) {
for (int e = 0; e < Elements lengths[1l]; e++) {
Elements[1][e] = new Element (upperLayerSize) ;

}

upperLayerSize = Elements lengths[1];

// end of Network(int InputlLayerSize, int HiddenLayerSize

int OutputlLayerSize




// s, BEMEREIE B K &R
“Network () {
if ( Elements != NULL ) {
for (int 1 = 0; 1 < ELEMENTS LENGTH; 1++) {
if ( Elements[1] != NULL ) {
for (int e = 0; e < Elements lengths[1l]; e++) {
if ( Elements[1][e] != NULL ) delete Elements[1][e];
}
delete Elements[1];

}

delete Elements;
}
if( Standar != NULL ) delete Standar;

}
// end of "“Network ()

// N Rt RS IEEIE R P RSB AR B IR 2 4%, B KB BIE, o
// HE BT R, I B R S i s B R E R %, Btk
// T BOE A B T B iR A AR HIAE, e ZEAE T BB B U B PR i 5 R 3




void ClearValue() {
DiffentValue = 0;
for (int 1 = 0; 1 < ELEMENTS LENGTH; 1++) {
for (int e = 0; e < Elements lengths[1l]; e++) {
Elements[1][e]->Value = 0;
Elements[1][e]->diffentValue = 0;
Elements[1][e]->fixGateValue = 0;
for (int s = 0; s < Elements[1][e]->UpperLayerSize; s++) {
Elements[1][e]->fixSynapse[s] = 0;

}

// ==== DEBUG ==== TODO : LastHidden NEE{FZWEARMKI, 4% 1HH%FH 2
// for (int h = 0; h < LastHidden. Length; h++) {

// LastHidden[h] = 0;

//}

// AR HE, FRENEZATUERSME, BERANXTAENIN, FRER
/) G ITE A R,

void Summation() {




for (int 1 = 1; 1 < ELEMENTS LENGTH; 1++) {
for (int e = 0; e < Elements lengths[1l]; e++) {
double outvalue = -Elements[1][e]->GateValue;
for (int s = 0; s < Elements[1][e]->UpperLayerSize; s++) {
outvalue += Elements[l - 1][s]->Value *
Elements[1][e]->Synapsel[s];

}
Elements[1][e]->Value = (double) (1 / (1 + exp(-outvalue)));

[/ BYEARRGRZEE, BARI A hiE, —fEE ARG A IEARRAE F Y,
[/ EHE ERAN. Tn— @G NER, [FIRH 2 H A SR % 20T LAk
[/ BRI, SEBREEEMEESEE R, WRIRZSAKE, BE2RANEH
[/ REZ, PrURA LI TOE (R R
void CalcDiffent () {
//output layer
for (int e = 0; e < Elements lengths[2]; e++) {
// & B IEE AR EEZ AN
OutputLayer[e]—->diffentValue =




(Standarle] - Outputlayer[e]->Value) *
(OutputLayer[e]->Value * (1 — OutputLayerlel->Value) + 0.01);
/I NE RS A
DiffentValue += fabs(Standarl[e] - OutputLayer[e]->Value);
}
//hidden layer
for (int 1 = ELEMENTS LENGTH - 2; 1 > 0; 1-—) {
for (int e = 0; e < Elements lengths[1l]; e++) {
double sumDiff = 0;
for (int ne = 0; ne < Elements lengths[l + 1]; net++) {
sumDiff += Elements[1 + 1][ne]->Synapsele] *
Elements[1 + 1][ne]l->diffentValue;
}
Elements[1][e]->diffentValue = (Elements[1][e]->Value *
(I = Elements[1][e]->Value)) * sumDiff;

/) BREREE R AT DK R ZE ARG BB IEE, A2 i #0415 2 0
[/ AEATHERZIE, PO E B IERZE RN, AXEEFHEAT2%5E LR




o FE FIE—BREAR DRGSR EEMNERE O, 2R E WBRAE S ESE
// , WRAR B BRI — B R B A R — .
void CalcFixValue(double LearnSpeed) {
for (int 1 = ELEMENTS LENGTH - 1; 1 > 0; 1-—) {
for (int e = 0; e < Elements lengths[1l]; e++) {
Elements[1][e]->fixGateValue =
—-LearnSpeed * Elements[1][e]->diffentValue;
for (int ue = 0; ue < Elements lengths[l - 1]; uet++) {
Elements[1][e]->fixSynapse[ue] +=
LearnSpeed * Elements[l][e]->diffentValue *
Elements[1 — 1][ue]l->Value;

[/ EFTA RIS E T 1R, B RE TR AR NS, BIEERCE,
// FrUATE EUEN A E SR E T EE .
void FixNetwork (int SampleCount) {
for (int 1 = 1; 1 < ELEMENTS LENGTH; 1++) {
for (int e = 0; e < Elements lengths[1l]; e++) {




Elements[1][e]->GateValue +=
Elements[1][e]->fixGateValue / sqrt((double)SampleCount) ;
for (int s = 0; s < Elements[1][e]->UpperLayerSize; s++) {
Elements[1][e]->Synapse[s] +=
Elements[1][e]->fixSynapsel[s] /
sqrt ((double) SampleCount) ;

b

// end of class Network

/ PR NEREE R
//@mammﬁ@ﬁ D] 25 8 N R RIRE RL i o N\ B4R, S 4 T
// AAEE], R A b ZH & K ) B $8 Fabs trac t B A E M, W H & & W E T
// ¥%£LoadSampleflLoadDataZs W28 & ] o
class RobotBase {

public :

int SampleCount;




// internal

int inputLayerSize, outputlLayerSize;
Network *worknet;

int noBestCount;

int learnSamples;
double bestDiffent; // = 10000;

// R, EYIE

RobotBase () {
bestDiffent = 10000;
worknet = NULL;

// R, REIGENREIE B B YR
“RobotBase () {
if ( worknet != NULL ) delete worknet;

// #gEsRa, AR B
virtual void LoadSample() = 0;
virtual void LoadData(int SampleNo) = 0;




// public delegate void OnCycleFinish(int CycleNo, double BestDiffent, double
NewDiffent) ;
// public event OnCycleFinish EventCycleFinish;

// public delegate void OnBadLearning(int NoBestCount) ;
// public event OnBadLearning EventBadLearning;

// BB R EEREEER [, AR MATEVE. Net K5 E 4%, BiEH
[/ CERAZIRAEERXRE] 580 ERTEE IR EE] RIREZE RE 7M. A
// 1A B R ER Z R R RO AR, AT BB 1 A8+ R Ak, W]
// VAP RN —fE ¥ cyc Le PR o

virtual void Learning(double LearnSpeed, int HiddenLayerSize,

int NoBestLimit, double Precision)

worknet = new Network (inputlLayerSize, HiddenLayerSize, outputlLayerSize) ;
bestDiffent = 10000;

int cycle = 0;

noBestCount = 0;

while ((noBestCount < NoBestLimit) && (bestDiffent > Precision)) f{

double newDiffent;




cycle++;
worknet—>ClearValue () ;
for (int sampleNo = 0; sampleNo < learnSamples; sampleNo++)
LoadData (sampleNo) ;
worknet—>Summation () ;
worknet—>CalcDiffent () ;
worknet—>CalcFixValue (LearnSpeed) ;
// ==== DEBUG ====
int e;
printf( “Input: ( 7 );
for( e = 0; e < worknet->Elements lengths[0]; e++)
printf( "%+f 7, worknet—>InputLayer[el->Value );
printf( ”), Standard:( 7 );
for( e = 0; e < worknet->Elements lengths[2]; e++)
printf( “"%f 7, worknet->Standarle] );
printf( ”), Output:( ” );
for( e = 0; e < worknet->Elements lengths[2]; e++)
printf( “%f 7, worknet—>OutputLayer[e]->Value );
printf( ")\n” );

{




newDiffent = worknet->DiffentValue / learnSamples;
if (newDiffent < bestDiffent) f{
bestDiffent = newDiffent;

noBestCount = 0;
}
else {
noBestCount++;
}
// if (EventBadLearning != null) EventBadLearning(noBestCount) ;
worknet—>FixNetwork (learnSamples) ;
// if (EventCycleFinish != null) EventCycleFinish(cycle, bestDiffent,

newDiffent) ;

\n”,

printf( “cycle=%d, noBestCount=%d, bestDiffent=%0.8f, newDiffent=%0.8f

cycle, noBestCount, bestDiffent, newDiffent ) ;

delete worknet;
worknet = NULL;




b
// end of class RobotBase

// XOR &l
class RobotXOR : public RobotBase
{

public :

// XOR 2 H

RobotXOR() {

inputLayerSize = 2; // EANE 2 i
outputLayerSize = 1; // daE R
learnSamples = 4; /) BNEHERE 4

[/ EREEINRRA, MIFMEER
void LoadData( int sampleNo )

{

switch ( sampleNo )

{

case 0:




worknet—>InputLayer[0]->Value
worknet—>InputLayer[1]->Value
worknet—>Standar[0]
break;

case 1:
worknet—>InputLayer[0]->Value
worknet—>InputLayer[1]->Value
worknet—>Standar[0]
break;

case 2:
worknet—>InputLayer[0]->Value
worknet—>InputLayer[1]->Value
worknet->Standar [0]
break;

case 3:
worknet—>InputLayer[0]->Value
worknet—>InputLayer[1]->Value
worknet—>Standar [0]
break;




// end of void LoadData( int sampleNo )

// B RIUERZ R AR IR LoadData, EAABERE KK, 7] LASAERE S/ & REEA
void LoadSample ()

{

}

// TH BRI TR AT DA B A

// hiddenLayerSize=(inputLayerSize+toutputLayerSize)/2

[/ A2 BB A REN R T K, TR 2B B iR vk 25 SR A58 1 U 75
// o HiMHLearning's A7l A AT AR, e JEM, ERIREAT T ER
/) FEAE—. WER—EREELB AR, KA E AR R .

void Learning(double LearnSpeed, int HiddenLayerSize, int CyclelLimit,

double Precision)

while (bestDiffent > Precision) {
// if (EventHiddenLayerChange !'= null) EventHiddenLayerChange (HiddenLa
yerSize) ;
this—>RobotBase: :Learning (LearnSpeed, HiddenLayerSize, CyclelLimit,
Precision) ;
if (bestDiffent > Precision) {




HiddenlLayerSize = (int) (HiddenLayerSize * 1.2 + 1);
}
// ==== DEBUG ====
printf( “bestDiffent=%0. 8f, Precision=%0.8f, HiddenLayerSize=%d\n\n”,

bestDiffent, Precision, HiddenLayerSize );

b
// end of class RobotXOR

int main()

{
RobotXOR *Robot;
srand ( time (NULL) ); /% initialize random seed: */
printf( “Hello \n” ):

Robot = new RobotXOR;

Robot->Learning (




1000, // double LearnSpeed
10, // int HiddenLayerSize
10, // int CycleLimit
0.00001 // double Precision

);

delete Robot;

printf( “Bye \n” ):




ﬁi;\:/{’\‘? %

Arduino» F* % % (16) - Amarino ¢ SpeakToArduino # |42 3" (T'F—‘F'a‘
Cooper Maa)
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Step 1 % % Amarino
F hitp://www.amarino-toolkit.net/ N %1 App W 27455 Android 4% F :

1. Amarino
2. Amarino Plug-in Bundle

3. SpeakToArduino

Step 2: % % Arduino IDE ¥ MeetAndroid Library


http://www.amarino-toolkit.net/
http://code.google.com/p/amarino/downloads/detail?name%3DAmarino_2_v0_55.apk%26can%3D2%26q%3D
http://code.google.com/p/amarino/downloads/detail?name%3DAmarinoPluginBundle.apk%26can%3D2%26q%3D
http://code.google.com/p/amarino-examples/downloads/detail?name%3DSpeakToArduino.apk%26can%3D2%26q%3D#makechanges

WRVRERS F38547 Arduino IDE » 55554 http://arduino.cclen/Main/Software N EkEkAe » "Nk EERAERIA]
PEE T8k MeetAndroid Library » 2 MeetAndroid fi# %] Arduino IDE 745 H §# Y libraries B

EEHTELEN Arduino IDE » 1 Sketch > Import Library J&& | &% & & %] MeetAndroid » #1 N[E :

2@ sketch_mayl4a | Arduino 1.0
File Edit B8N Tool: Help

Verify / Compile Ctl+R

Show Sketch Folder Cto+E
Import Library. . EEPROM
Add File... Ethernet ~
Firmata
Liguid Crrystal
5D
Servo
Softwarederial
3P
Stepper
Wire

Meethndroid

Step 3 : i LED


http://arduino.cc/en/Main/Software
http://code.google.com/p/amarino/downloads/detail?name%3DMeetAndroid_4.zip%26can%3D2%26q%3D

SETE o HUAT ~ 4%~ B5 =95 LED 43385 pin 9, 10, 11 » LED AYBEEB: BRI (B3R ) 825 pin B > %G (faff) &
$5—FH 220 ohm ZE[EFZ%E] GND :
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Step 4: + & SpeakToArduino #23:%

FEEN# > W Arduino IDE $T5f SpeakToArduino F2=



FE=FT Y baud rate THEE 57600 bps » LIFRIRAYEE R 2 57600 bps » &7 HUH B HY %

26 SpeakToArduino | Axduino 1.0

File Edit Sketth Tools Help

SpeakToArduing
int blueled = 11;

|#

hoolean red = false;
boolean green = falze;

hoolean blue = false;

vold setwp()

{
ff use the haud rate vour bluetooth module iz configured to
/f not all haud rates are working well, i.e. ATMEGA1AS works best with 57400
Be: _hezing57A00%;

/f register callback functionz, which will be called when an associated even

meetbndroid. rezisterFunction{color, 'c');

ffzet all color leds as output pins
pintodef redLed , OUTPUT);
pinMode{greenled, OUTPUT ); b
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HHHTE BENEA(E R B HC-0x RAVEEEFHA - T EE HC-Ox BEZFIHAHHYINE -

—DT(t .

vcc 36V—6V  =GNDs
BT_BOARD V12 &Vecs

A HC-Ox BioFR4H (Bl © IEmlE - B - & HE)

T AIRE L IR T 2RI Arduino FIEE S IE1AH AR ACHLAT -

Arduino

5V vCC TR A AT
GND | GND FRE A TR
RXD | TXD

TXD RXD



http://www.wavesen.com/

HAWEEEEE B2 EIRTE AN ESE 0 FATRE S SREAH > 5% Arduino #Y RXD ZEHFEEEFHEAHAAY TXD »
I Arduino #Y TXD ZEHEEEZFFAAAY RXD -

M % BELFIEAH BV LED & —E PO
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Discovered Devices

00:11:11:04:09:89
J linvor

FTBH Android F4#4 19 SpeakToArduino App > (R & B ESHEME:
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SpeakToArduino

Click and order
your color

BETF1% Menu $# Set BT Device Address » T Erph S (@S m - FLAF ST ARIMITD T 280 MAC Address > 2A1&1%
[Save]) $H:



Set BT Device Address

00:11:11:04:09:89

Save | Discard

I J

Fo— T F1#% Back $#3RH} SpeakToArduino App * ZAT% B HTELE) SpeakToArduino > #E515% App 4 & FHTHY Mac Adress PRES 25

R —VIEF] > Android FH5EEER Arduino ZET7 4R - W H 2R FEIWEHR CEETH 7509 Status bar » #58 FIhE
Arduino 743 > status bar _F #2718 Active connection: -+ HYEHE.)



I T Active col
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your color

7~ [Click and order your color] # - F-Héer bk B S Wk ¢



IS O] DR HARSEAYBE D » 514 red, green, blue, white, pink, orange, yellow, dark B¢ off » iZ5{% Arduino | =8 LED {H&r
[E25 B o PEANEFRER red > iE0F Android T3 & 0L Arduino &L 5 LED $TRH :
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WIEHVRA RGB Led » FJ DA —4H RGB Led BV = Led » 2% 5 7] LE 3 LED BHEE LAV
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o Getting Started with Amarino f5#
e ) Amarino 7% Android B Arduino
e MultiColorLamp

o SensorGraph


http://coopermaa2nd.blogspot.tw/2012/07/getting-started-with-amarino.html
http://coopermaa2nd.blogspot.tw/2012/06/amarino-android-arduino.html
http://coopermaa2nd.blogspot.tw/2012/06/multicolorlamp.html
http://coopermaa2nd.blogspot.tw/2012/06/sensorgraph.html

[ ASTEE B EEY » JF3C48UEE ¢ hitp:/coopermaa2nd.blogspot.tw/2012/07/speaktoarduino.html > FH P $2E 3R 4R HE 1% 4N A ASFE

E=S
oY

OpenNI 2 sh4s % e (H*ﬁ . Heresy Ku )

1 F—f&H (OpenNI 2 ELAFZH&GH]) 8 > Heresy oAk R 4ud&s 7—F » B Visual Studio 2 #E{T OpenNI 2 fF2
ABHEIES » EEREERNIE - SIMIA— (BRI - 23R OpenNI 2 VR ELEES - MiE—K » HliE
AT - B -

FE L —{E# B - Heresy £ Thid ~ PURFHEAEAIEAVER (% - BREEATEGAE - FrUERTA SRR &
ERT - AEEE L BEUERTHIRHE - REEEESL EH E RS REEGIRAY | M OpenNI 2 A T2t — L/ HAY
I > AT ERR AT - AR

B4 > Al OpenNT 1.x HYERFEE - OpenNI KB FHILLR - & EIE—ECRERVE - FEhIEE T LURILHEZ A2 &
ELIEHEERTT ¢ AE OpenNI 2 » AE{EEEHAYEER - & —{EH{E openni::Status HYFIERRIA]  EARIEE RN > RECET -

openni::Status eRes = openni::OpenNI::initialize();
if ( eRes != openni::STATUS OK )
{
std::cerr << openni::OpenNI::getExtendedError() << std::endl;

return —1;

}

R IERETHYES - FTEEIY [ E(E & 2 openni::STATUS_OK ; Zi@sksh » HEE[o{EE R E STATUS_OK » Ftft
FenR BT TR ERE -


http://coopermaa2nd.blogspot.tw/2012/07/speaktoarduino.html
http://kheresy.wordpress.com/2012/12/24/openni2-basic-example/

A | openni::Status TLASE 28V — L0 RAVEEERARDL > o] DLFZRIME— P IR By HIET - RN B GRS
ShERaMEAYES » AT DUZ& M openni::OpenNI::getExtendedErropr() s ek = » ZREUG B 52 BEHISEAEREREAS T - NIBEE RN
& Mg R RE —EHERE N MR & SCHTFIEA V6 - TREE R ENANE - CRiftzE thread-
safe 1Y) TAISRIE Z RiANEEG] - ECEL I L Egartadnvss - RIgEpaOlEsE T

// STL Header

#include <iostream»

// 1. include OpenNI Header
#include “OpenNI.h”

// using namespace
using namespace std;

using namespace openni;

int main( int argc, char** argv )
{
// 2. initialize OpenNI
if( OpenNI::initialize() == STATUS OK )
{
// 3. open a device

Device devAnyDevice;




if ( devAnyDevice. open( ANY DEVICE ) == STATUS OK )
{
// 4. create depth stream

VideoStream streamDepth;

if ( streamDepth. create( devAnyDevice, SENSOR DEPTH ) == STATUS OK )
{

if ( streamDepth. start() == STATUS OK )
{
// 5 main loop, continue read
VideoFrameRef frameDepth;
for( int 1 = 0; i < 100; ++ i )
{
// 5.1 get frame

if ( streamDepth. readFrame ( &frameDepth ) == STATUS OK )
{

// 5.2 get data array
const DepthPixel* pDepth = (const DepthPixel*)frameDepth. getData() :

// 5.3 output the depth value of center point

int idx = frameDepth. getWidth () * (frameDepth. getHeight ()+1)/2:
cout << pDepthlidx] << endl;




}

else
{
cerr << “Can not read frame\n”;
cerr << OpenNI::getExtendedError() << endl;

}

else

{
cerr << “Can not start depth stream\n”;
cerr << OpenNI::getExtendedError() << endl;

streamDepth. destroy () ;
}

else

{
cerr << “Can not create depth stream\n”;
cerr << OpenNI::getExtendedError() << endl;




devAnyDevice. close () ;

}

else

{

cerr << “Can not open device\n”;
cerr << OpenNI::getExtendedError() << endl;

// 7. shutdown
OpenNI: :shutdown () ;
}

else

{

cerr << “OpenNI initialize error\n”;

cerr << OpenNI::getExtendedError () << endl;

return O;

}

EFREEEA —HEAYSE - Heresy fERTTEIA 1L using namespace openni; > #57E {8 openni 45 ([ namespace » AT LA Z & AVHE



3 > #H] LA namespace &g ¢ 41bE—2K - BEAFERGHERE 8 - B LEAVEETA EHE AR AT
% o BAEEJTEBI T SimpleRead ; #H » FRAATELE SRS HRE - AEEBRI AT IEE o ERAYME - A
EEEANEET ~HESIMUERE T > BlEw AR ISR > main() fEZ 2R [EI(EIE 0 HYSERRACHBHY » Heresy 1542
AR RIS R T

it BEAAHNE C++ HY APL T 0 J2 AR exception (2675 ) ZRIMEEER - Heresy {E A 28 1574 B AT 100 - - 408815 DL 7 H
AREE > OpenNI HYBHZE IR » UFE C++ RN ERZE ? #EZR OpenNI 1.x 1 OpenNI 2 #iF2 T C++ Y APL > (HZ2EKE L >
R& 7m0 #ERER C PRI - B2 HERAHMEE ? FrlE 2 #HE#E SN —(E H CHIR
A (openniz:Array ) » MEHEBERA STLHIRRA (H)2°F iterator AJLAF ) -+

[ &7 5 Heresy's Space FY4EEE » [FE S04k B ¢ http://kheresy.wordpress.com/2012/12/26/openni-error-handle/ > FH Heresy f5H
HEEELATEA NGRS - AR kAR EE 1R 4N A E

Lo Eep (Artificial Neural Network) (T’F—‘ﬁ : Bridan)

NEURO ZEFIE R LAER A B2 EGHIAR - SR A —R ik MHRE e - ERE—JEE R - £
TEWTFEFTRIEAF 285 - HERtILEATF LSS - HEh— RIS > FEARNE - OENMERMIEEL - /2 &EFER
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http://kheresy.wordpress.com/2012/12/26/openni-error-handle/
http://zh.wikipedia.org/wiki/%E4%BA%BA%E5%B7%A5%E7%A5%9E%E7%BB%8F%E7%BD%91%E7%BB%9C
http://4rdp.blogspot.tw/2009/07/washing-machine.html

MP (MultiLayer Perceptron) 7RI/ 2
- AP EpIEE
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= B R S+ 3R R P oh R B (Step fuinction)
B0 Yi=1/(1 + exp(-Ui))
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[52)5] L1041 /%
[65)5] SLa4ifE
[72)5] 404 1%

[82 )51 o241k
[92)5] J:3524H 1%
[102 /5] L7244 1#
[112)5] 3268041
[122)5]) 31420041/
[132)5]) 37371240 1#
[142)5]) 336559640 %
[152)5]) 3227918440 f#
(162 /5] $£147725124H 1%
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Dim QueenXY() ~ #FiLi%

Dim TempQueenXY (9999) W {7 f ik
Dim TempNumber = #7iF

Dim QueenNumber ° [EfR4&5L
Private Sub Form Activate()

Queen = 9~ B J5#L




o
i
o
K

ReDim QueenXY (Queen — 1, Queen — 1) = &

For T = 0 To Queen — 1
For J = 0 To Queen — 1
QueenXY (I, J) =0
Next J
Next 1

QueenNumber = 0
Listl.Clear

For I = 0 To UBound (QueenXY)
Call InputQueen(I, 0)
Next I
MsgBox “#Efi#H => 7 & QueenNumber & ” 4”

End Sub

Function InputQueen(X, Y) ~ J¥ & %/




’

If X >= 0 And X <= UBound (QueenXY) And Y >= 0 And Y <= UBound(QueenXY) Then
I AL A T

If QueenXY(X, Y) = 0 Then °~ HEr2E AR GEHHE)

BackupTemp ’~ Step flifn H AELELIR

Call KillQueen(X, Y) * ZE S #7#%

For I = 0 To UBound(QueenXY) * Ji |——{J
Call InputQueen(I, Y + 1)

Next 1

If Y = UBound(QueenXY) Then

QueenNumber = QueenNumber + 1

nn

Temp =
Listl.AddTtem "% ” & QueenNumber & ~ AHZZE A: ”
For T = 0 To UBound(QueenXY)
For J = 0 To UBound(QueenXY)
Temp = Temp & QueenXY(I, J) & ” 7




Next J
Listl.AddItem Temp

nn

Temp =

Next 1
Listl.AddItem 7~

End If

Reductive ~ JEJH
End If
End If

End Function

b XL

Function KillQueen (KX, KY) ~ IRHC/\ T

QueenXY (KX, KY) = "Q”

For T = 0 To UBound(QueenXY)
For J = 0 To UBound(QueenXY)
If T = KX And J = KY Then
Else




If T =KX Or J = KY Then QueenXY(I, J) =1 DU

If (J-KY) <> 0And (I -KX) <> 0 Then~ A% 0 (HD)
If Abs((J — KY) / (I - KX)) =1 Then QueenXY(I, J) =1
REHRME = 1
End If
End If
Next J
Next 1

End Function

Function BackupTemp() = f#{»
Temp = ””
For T = 0 To UBound(QueenXY)
For J = 0 To UBound(QueenXY)
Temp = Temp & QueenXY(I, J) & 7,”
Next J

Next I

TempQueenXY (TempNumber) = Temp

J\T7 R




TempNumber = TempNumber + 1
End Function

Function Reductive() ~ 1ZJi

Temp = Split (TempQueenXY (TempNumber — 1), 7,”)

Templ = 0
For T = 0 To UBound(QueenXY)
For J = 0 To UBound(QueenXY)
QueenXY (I, J) = Temp(Templ)
TempI = Templ + 1
Next J
Next 1

TempNumber = TempNumber - 1
End Function

o JFIAME L 0 NE2JZ(N Queen).rar
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{

function sum(n)
s = 0;

i=1;

while (i<=10) {

s =s *1ij;

i++:

}

return s;

m = max (3, 5);

function max(a, b) {
if (a > b)

return a;
else

return b;

{

function total (a)
s = 0;




for (i in a) {

s + ali]l;

S

}

return s;

a I: 1) 3) 7) 2) 6] ;
t = total(a);
word = { e:”dog”, c:"H)” };

TR e 7

FEE R A node.js + javascript BEYEH j0c dRass > Zdmaras 0] LUKE J0
g SRS =0 IRO » k2 Intermediate Representation 0 HYEE » PANZ jO0c 4RaFasiy se B2 = -
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// j0c #m FH 1 41) -
var fs = require("fs”);

require (“util”);

var util
var log = console. log;
var format = util. format;

var tokens = [];

node jOc test. jO

// ¥ console. log A FHAHM — B
// FEAE AL

i = HURTL > dRaspl— T P By T ISR > 3K




var tokenldx = 0;

var end = “$END”;

var funcName = “main”;

var funcStack = [ funcName ];
var irText = ”7;

var symTable = {};

symTable[funcName] = { type:”function”, name:”main”, pcodes:[] };

var scan=function (text) {

var re = new RegExp(/ (\/\*[\s\SI*2\*\/) [ (\/\/["\r\n])
—zA=Z]\wk) | (D=CI\H\-\*\/&%[]+) [ (\s+) | (L) /gm) ;

var types = [ 77, “COMMENT”, ”COMMENT”, ”STRING”, ”INTEGER”, ”FLOAT”, ”“ID”, “0OP
5 "SPACE”, "CH’ ]:

<”' *?”)

(\d+(\. \d®)?) | ([a

tokens = [];

tokenldx = 0;

var lines = 1, m;

while ((m = re.exec(text)) !== null) {

var token = m[0], type;
for (i=1; i<=9; i++) {
if (m[i] !== undefined)
type = types[i];




}
if (!token.match(/ [\s\r\n]/) && type!="COMMENT") {
tokens. push({ “token”:token, “type”:type, “lines”:lines });
}
lines += token.split(/\n/). length-1;
}
tokens. push({ “token”: end, “type”:end, “lines”:lines });

return tokens;

var error=function (expect) {

var token = tokens[tokenIdx];

log("Error: line=%d token (%s) do not match expect (%s)!”, token.lines, token.to
ken, expect);

log(new Error (). stack) ;

process. exit (1) ;

var skip=function(o) { if (isNext(o)) next(o); }

var next=function (o) {




if (o==null || isNext (o)) f{
return tokens[tokenIdx++]. token;

}

error (o) ;

var isNext=function (o) {
if (tokenIdx >= tokens. length)
return false;
var token = tokens[tokenIdx]. token;
if (o instanceof RegExp) {
return token.match (o) ;
} else

return (token == o) ;

var nextType=function (o) {
if (o==null || isNextType (o)) {
return tokens[tokenIdx++]. token;

}

error (0) ;




var isNextType=function (pattern) f{
var type = tokens[tokenIdx]. type;
”). index0f (¥

return ((”|”+pattern+” “+typet+”|”) >=0) ;

var pcode=function(label, op, p, pl, p2) {
symTable[funcName]. pcodes. push ({"label”:label, “op”:op, “p”:p, "pl”:pl, "p2”:p2}
);
var irCode = format ("%s\t%s\t%s\t%s\t%s”, label, op, p, pl, p2);
log (irCode) ;

irText += irCode+”\n”;

var templdx = 1;
var nextTemp=function() {
var name="T +templdx++;
symTable[name] = { type:”var”, name:name };

return name;




var labelldx = 1;

var nextLabel=function() { return “L”+labelldx++; }

var elseldx = 1;

var nextElse=function() { return “else”+elseldx++; }

var compile=function (text) {
scan (text) ;
PROG () ;

// PROG = STMTS
var PROG=function() {
STMTS () :

// STMTS = STMT*
var STMTS=function() {
while (!isNext(”}”) && !isNext (end))
STMT () ;




// BLOCK = { STMTS }
var BLOCK=function() {
next (" {7)
STMTS () ;
next ("}7) ;

// STMT = FOR | WHILE | IF | FUNCTION | return EXP ; | ASSIGN ; | BLOCK
var STMT=function() {
if (isNext(“for”)) {
FOR () ;
} else if (isNext(“while”)) {
WHILE () ;
} else if (isNext(”if”)) f{
IFQ) ;
} else if (isNext(”function”)) {
FUNCTIONQ) ;
} else if (isNext(“return”)) {

next (“return”) ;




var e = EXP();

peode (77, “return”, e, 77, *7):
next (7:”)

} else if (isNext("{”)) {
BLOCK () ;

} else {
ASSIGNQ) ;

next (” : //) ,

// FOR = for (ID in EXP) BLOCK
var FOR=function() {
var startlLabel = nextLabel (), exitLabel = nextLabel();
next (“for”) ;
next (" (”) ;
var id = nextType ("ID”);
peode ("7, =", id, "0”, "7):
next (“in”
var e=EXP():
next (7)) :




var t = nextTemp() ;

pcode (startLabel, “<”, t, id, e+”.length”);
pcode ("7, 7if0”, t, exitLabel, ”7);
BLOCK () ;

pcode ("7, “goto”, startLabel, 77, 77);

nn nn nn nn )
’

pcode (exitLabel, , , ,

// WHILE = while (EXP) BLOCK

var WHILE=function() {
var startLabel = nextLabel (), exitLabel=nextLabel();
peode (startlabel, 7, 7, 7. ")
next (“while”) ;
next (7 (7) :
var e = EXP();
next (7)) :
pcode ("7, “if0”, e, exitLabel, ”7);
BLOCK () ;
pcode ("7, “goto”, startlLabel, 77, 77);

nn nn nn nn )

pcode (exitLabel, , , ,




// IF = if (EXP) STMT (else STMT)?
var IF=function() {
next ("if”) ;
next (" (”) ;
var e = EXP();
next (1)) :
var elselLabel = nextLabel();
pcode ("7, 7if0”, e, elseLabel, ”7):
STMT () ;
if (isNext(“else”)) {
next (“else”) ;
v en ey

pcode (elselLabel, , , ,
STMT () ;

// ASSIGN = ID[++|-—]? (=EXP?)?
var ASSIGN=function() {
var id, op, hasNext = false;
if (isNextType(“ID”)) {




id = nextType ("ID”) ;
symTablel[id] = { type:”var”, name:id };
if (isNext (“++”) || isNext("-=")) {
var op = next (null);
peode "7, op, id, 77, ")
}
hasNext = true;
}
if (isNext("=")) {
next (7=")
var e = EXP();
if (id != undefined)
peode (", =", id, e, ")
hasNext = true;
}
if ('hasNext)
return EXP();

// EXP=TERM (OP2 TERM)?
var EXP=function() {




t1 = TERMQ) ;

if (isNextType(”0P2”)) ({
var op2 = next(null);
t2 = TERMQ) ;
var t = nextTemp();

, op2, t, tl, t2);

nn

pcode (
tl = t;
}

return tl;

// TERM=STRING | INTEGER | FLOAT | ARRAY | TABLE | ID (TERMS)? | ID [TERMS]?| ( EX
P)
var TERM=function() {
if (isNextType ("STRING|INTEGER|FLOAT”)) {
return next(null);
} else if (isNext("[”)) {
return ARRAY() ;
} else if (isNext("{”)) {
return TABLE() ;
} else if (isNextType(”ID”)) { // function call




var id = next(null);
if (isNext(” (")) {
next (” () ;
while (!isNext(”)”)) {
// TERM() ;
var arg = next(null);
peode ("7, “arg”, arg, 77, ")
skip(”,”) ;
}
next (")) ;
var ret = nextTemp () ;
pcode ("7, “call”, ret, id, ”77);
return ret;
}
var array = id;
if (isNext(”"[7)) {
next (" [7)
while (lisNext(”]”)) {
var idx = TERM() ;
var t = nextTemp() ;

nn

pcode ("7, “[]7, t, array, idx);




v o7

skip(”, ") ;
array = t;
}
next ("17) ;
return array;
}
return id;
} else if (isNext(” (")) {
next (27
var e = EXP();
next (2)7):
return e;

} else error();

// FUNCTION = function ID(ARGS) BLOCK
var FUNCTION = function() {
next (“function”) ;
funcName = nextType (“ID”) ;
funcStack. push (funcName) ;

symTable[funcName] = { type:”function”

)

name : funcName,

pcodes:

[1 35




nn ”n ”n )
’

pcode (funcName, “function”, "7, 77,
next (" (”) ;
while (!isNext(”)”)) {
var arg=nextType("ID”);
peode (””, “paran’, arg, ”7, "7):
skip(”,”) ;
}
next (")) ;
BLOCK () ;
pcode (77, “endf”, "7, "7, "7
funcStack. pop () ;
funcName = funcStack[funcStack. length-1];

// ARRAY = [ TERMS ];

var ARRAY = function() {
next ([ :
var array = nextTemp() ;

nn nn

pcode (array, “array”, , 77
while (!'isNext(”]17)) {
var t = TERMQ) ;




pcode (", “push”, array, t, ”7):
skip(”,”)

}

next ("]7) ;

return array;

// TABLE = { (TERM:TERM)x* }
var TABLE = function() {
next (7 {)
var table = nextTemp() ;
peode (table, “table”, 77, ”7, "7}
while (!isNext(”}”)) {
var key = TERM() ;
next (":7);
var value = TERM() ;
skip(”, ") :
pcode ("7, “map”, table, key, value);
}
next ("}7) ;

return table;




var source = fs.readFileSync (process.argv[2], “utf8”);

compile (source) ;

RS

1% ~ AT LA node.js 2T EAIURE - 6 H4mEEERHY J0 12U - BIAILL TSR i0c SrsFas B4maE 1 test.j0 22
s ARE - B2 i BRI AL IRO By S -

D:\Dropbox\Public\web\oc\code\ js>node jOc test. jO
arg 10
call T1 sum
= S T1
sum function
param n
= S 0
= i 1
L1
<= T2 i 10
if0 T2 L2
+ T3 S i
= S T3



IL2

max

L3

total

++

goto

return
endf
arg
arg
call

function
param
param

>

if0

return

return
endf
function

param

T5
T5

a

S

max
T4

L3




L4

L5

T9

T11

goto

return
endf
array
push
push
push
push
push

arg
call

table

T6
T6
T7
T8

T9
T9
T9
T9
T9

T10

i a. length
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